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QUESTION 1

You are designing a network management strategy for a new network. The requirements for the
management of network devices are shown below:

Administrator passwords must have an expiration date.

Administrators must be assigned role-specific privileges on each device.

In this scenario, which statement is true?

A. Local authentication must be used on each device.

B. A centralized AAA system must be used for authentication.

C. All devices must be configured with the same privilege levels.

D. Each user must have a unique login account.

Correct Answer: B

QUESTION 2

In a network design using the traditional tiered structure, which two tiers connect to untrusted domains? (Choose two.)
A. access

B. WAN edge

C. core

D. aggregation

Correct Answer: BD

QUESTION 3

You are developing a network monitoring strategy to track network response time and availability. The
monitoring strategy should be scalable to accommodate future network growth.

Which two statements are true in this scenario? (Choose two.)

A. Network reachability monitoring functions should be centralized to a dedicated monitoring device.
B. RPM allows the monitoring of reachability, but does not allow delay or jitter monitoring.

C. Network reachability monitoring functions should be delegated to each network device.

D. RMON is a standardized system that is not vendor specific.
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Correct Answer: AD

QUESTION 4

What are two reasons why you would send an RFP to multiple vendors (Choose two.)
A. to eliminate vendors who cannot meet the requirements

B. to warranty the process against fraud

C. to satisfy international law requiring a minimum of three vendors

D. to compare competing proposals

Correct Answer: AD

QUESTION 5

You are asked to propose a security solution that integrates with OpenStack, Kubernetes, and OpenShift. Which Juniper
Networks product will work in this scenario?

A. Sky ATP

B. SDSN

C. Contrail Security
D. JSA

Correct Answer: C
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